Op_ GeV]

7000 GeV pp | Unlderllyingl Event

Ratio to ATLAS

| T I T I T I T I T | |
2.5 — ]
B Average IS N, (Il < 2.5, p_>05 GeV) B
| m ATLAS ]
| —&— Pythia 8.212 default |
2l Pythia 8.212 tune-1 L
L Pythia 8.212 tune-2c¢ |
L Pythia 8.212 tune-2m a
15— ]
05— ]
B Ly | P N T R | P N T R |_
: T T T T | T T T T | T T T T |:
2 b =
1 n_mﬂ_wﬁ—ﬁﬁfﬁﬁﬁ—ﬁ#*;@—
0.5 — _
" 1 1 1 1 | " 1 1 1 1 | " 1 1 1 1 " |
0 10 20 30

chg

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


